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3 (Sem-5/CBCS) CHE HC 1

2022
CHEMISTRY

(Honours)

Paper : CHE-HC- 5016
( Organic Chemistry-IV)

Full Marks : 60

Time : Three hours

The figures in the margin indicate
Sull marks for the questions.

1. Answer the following questions :
(any seven) 1x7=7

(a) What is the most stabilizing force
for nucleic acids ?

(b) Which property is commonly shared
by GDP and AMP ?

(c) Name one Ketogenic amino acid,

(d) Which enzyme helps in the formation
of phosphodiester bond ?
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(viii) (a) Write a method of synthesis of
paracetamol.

(b) Mention four qualities that an
antibiotic must possess.

(c)  Point out the essential difference
between oils and fats.

(d) Mention one medicinal value of
turmeric and neem. '

(e) What do you mean by rancidity ?
How can rancidity be minimised
in foods ? 2+2+2+2+2=10

00
3 (Sem-5/CBCS| CHEHC 1/G 8 32



